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MAS8151-ENGINEERING MATHEMATICS-I

Unit-2 Functions of Several Variables

Objective Question Bank

t ro_: t du :
I.If u=x+y>+z> and x=e',y=¢'sint,z=¢'cost ,then — is

dt
a) 2e” b) 3e* c) 4e” d) 5¢*
Answer: ¢
dy .
2.1f x*+ y’ =3axy, then D s
dx
x —ay vy —ax vy —ax x'—ay
a) — b) —= C) = d) ——
y —ax X —ay X —ay y —ax
Answer: d
. dy .
3.If ysinx=xcosy, then D s
dx
2) _(y.cosx—c.osy] b) (y.cosx—c.osy]
sin x+ xsin y sin x + xsin y
C)_(ysinx—c9sy] d) _(ysinx—siny]
COS X+ xsiny COSX +Cosy

Answer: a



. du .
4.1f u=e"sin y, where x=st’,y=st then — is
s

a) t’e’ cos y+2ste*sin y b) t’e* sin y + s’te* cos y
C) te'siny+ste’cosy d) t’e"sin y +2ste* cos y
Answer: d

. Jdu .
5.1f u=e'siny, where x=st>,y=st then — is

ot
a) t’s’e" cos y+2ste*sin y b) ste*sin y +s’e* cos y
c) 2st e*sin y+s’e*cosy d) t’e"sin y +2ste* cos y
Answer: ¢
Z JdZ o7 .
6.If Z=f(y—2z,z—x,x—y), then 8_+8_+8_ 1s
ox dy 0z
a) l b) -1 c)?2 d)0
Answer: d
dy .

7.1f (cosx)” = (siny)”", then ;. 18
2) ycotx +logcosy b) ytan x +logsin y

logsin x — xtan y logcosx — xcoty

ytanx —logsin y d) xtan y +logsin y

logcos x + xcot y logcos x — ycotx

Answer: b



o(wv)
ar,0)

8Ifu=2xy,v=x"—y*and x =rcos 8 and y r sinf , then
(a) -4r (b) 4r (c) -4r° (d) 4r°

Answer: ¢

0.0f ZEN _p (hen 200 -

a(r,0 a(x,y)
(@) —r (b) 1/r (c) 1 (do
Answer: b

[Qu=x+y+z ,v=Xy+yz+2zx,w= X+ y2 + 7" are functionally dependent.

(a) True (b) False
Answer: a
1. x=u(l +v),y=v(l +u), then %:
(a) u+v (b) 1+v +uv (c) 1—uv d1l+u+v
Answer: d

12.1f f(x,y,2z) = x> + xyz + z, Find f, at (1,1,1)

(a)0 (b)1 (©)3 (d)-1

Answer: ¢

13.1f £ (x,y) = sin(xy) + x*log(y), Find f, at (0,)
(a)33 (b)0 (©)3 (d)1

Answer: d

14. If f(x,y,2z,t) = xy + zt + x?yzt;x = k,y = k?,z = k,t = Vk Find Z—]; atk =
1



(a)34 (b)16 ()32 (d)6l

Answer: b

15.1f f(x,y) = sin (%) x3 + x?y find the value of f, + f, at (4,4)

()0 (b)78 (c)48(sin(1) + 1) (d)61
Answer: ¢

16.1f f(x,y) = % find the value of £, at (0,1)
(a)101 (b)-96 (c)210 (d)0
Answer: b

17. Stationary point is a point where, function f(x,y) have?

a)%=0 b)) V=0 ¢ Vu=0&%=0 d) Vn<0and >0
Answer: ¢

18. For function f(x,y) to have minimum value at (a,b) value is?

a)rt— $*>0 and 1<0 b) rt — $*>0 and >0 c) rt— $’<0 and r<0 d) rt — $*>0 and r>0
Answer: b

19. For function f(x,y) to have maximum value at (ab) is?
a)rt— $*>0 and r<0 b) rt — $*>0 and r>0 c)rt— $’<0 and r<0 d) rt — $*>0 and r>0

Answer: a

20.For function f(x,y) to have no extremum value at (a,b) is?

a) it — s>0 b) 1t — s°<0 O)rt—-s=0 d)rt—s*#0

Answer: b



21. Discuss minimum value of f(x,y):x2 + y2 + 6x + 12.
a)3 b) 3 09 d9
Answer: b

22. Discuss maximum or minimum value of f(x,y) = y2 + 4xy + 3%+ x°.

a) minimum at (0,0) b) maximum at (0,0)
¢) minimum at (2/3, -4/3) d) maximum at (2/3, -4/3)
Answer: ¢

23. Find the minimum value of Xy+a3 (1/X + 1/y).

a) 3a’ b) a ) a d) 1
Answer: a

24. What is the saddle point?

a) Point where function has maximum value

b) Point where function has minimum value

¢) Point where function has zero value
d) Point where function neither have maximum value nor minimum value
Answer: d

25. Divide 120 into three parts so that the sum of their products taken two at a time is

maximum. If x, y, z are two parts, find value of x, y and z.
a) x=40, y=40, z=40 b) x=38, y=50, z=32 c¢) x=50, y=40, z=30 d) x=80, y=30, z=50

Answer: b



